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Problem 16.4 (coduto et al)
kN
B:=700 mm Di:=12 m z,:=50 m po:=101.3 kPa Veoi=24 —
m
[ 70 ] [0.7]
o | 85 | KkPa e |3.9] Shear strength along first 1.5 m FS:=3
! 120 ! ! 5.4 ! of shaft is ignored.
180 [0.5]
Toe bearing:
q:;:=9 -5'u4: 1620 kPa At==7T'B—:0-385 m’ Q;:=q,+A;=623.449 kN
4
Side friction: [1] No problems here
i::1,2..4:I§I Sy, L {8'223}
i_4j —=1.777 _”:| 1.185 |
Pq Pq 177 1
1.777
Problems arise here [ |
Sy [ 1.539]
=if —<1.5 =7 .
p=if —< A,s::n.B.H:I 8577}’"2
Pa 111.875 |
|o.55 | 11 ]
slu.
elseif 1.5<—<2.5
Pq
T
|0-55—0.1- | —=15 | Error: This value must be an integer.
I \Pa
Fo=>, (a'_'s'qu's) J=2kn This value should equal 1347 kN.
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Wf::n-BT-Df-yc=110.835 kN
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